Solving Systems with Three Variables

Solve each of the following systems.

y=-5
1. i x+y+z=1
X—y—-5z=5
-3y=z
5. 3Xx+z=3
2x—y+z=0
SX+y+2z=10
9. ¢2x+2y+z=0
2X+3y=—7
X+y+z2=-2
13. 2Xx—-y+z=-1
X—4y+z=3

6.

10.

14.

2X=y
x-y=-1
X+2y+z=-5

y+4z=-1
2x—y=1
X—y+z=4

4X—-y+2=6
X+y—z=-1
—X—=2y+z2=-2

3.

7.

11.

15.

Name

X+1=0 y—3=0
2X+y+z=5 4. Ix—-2y—-z=-1
3X—y+z=2 2X+y+z2=4
y-z=0 X+z2=0
y+4z=15 8. 2X+z=-4
X+y+z=9 2X+y—-z=-12

X+3y+z=3
2X+5y—-2z=-4
X+6y+2z=0

5x—y-2z=1
—3X+2y+3z=2
X—2y—-z=-10

x—3y=4
12. ! x+2z2=12
X—y—-z=1

2X—y+z=5
16. ¢ x—y+z=1
X+y+3z=7



Solving Systems with Three Variables

Solve each of the following systems.

y=-5
1. i x+y+z=1
X—y—-5z2=5
(5,-5.1)
—3y=12
5 3x+z=3
2Xx—y+z=0
(2,1,-3)
5x+y+2z=10
9. {2x+2y+z=0
2X+3y=—7
(1L-3,4)
X+y+z2=-2
13. <2X—-y+z=-1
X—4y+z2=3

(-1,-1,0)

6.

10.

14.

2xX=y
x-y=-1
X+2y+z2=-5

(-1,-2,0)

y+4z=-1
2x—y=1
X—y+z=4

(-2,-5,1)

4X—-y+2=06
X+y—-z=-1
—X—-2y+z2=-2

(1,3,5)

name___ ANSWER KEY

X+1=0
3. 12x+y+z=5
X—y+z2=2

(-1,1,6)

y—2z=0
7. L y+4z=15
X+y+z=9

(3,3,3)

X+3y+z=3

11. /1 2x+5y—-2z=-4

X+6y+2z=0

(6,~2,3)

5x—y-2z=1
15. 1 -3x+2y+3z=2
X—2y—z=-10

(0,7,-4)

y—3=0
4. Ix-2y—-z=-1
2X+y+z=4

(2,3,-3)

X+z2=0
8. 2X+z=-4
2X+y—z=-12

(—4,0,4)

Xx-3y=4
12. ! x+2z2=12
Xx—-y-z=1

(7,1,5)

2X—y+z=5
16. ¢ x—y+z=1
X+y+3z=7

(4,3,0)



